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Which identity governance and access management method is pre-integrated with the
starter deployment of Cloud Pak for Business Automation?

A. SAML
B. SSO
C. LDAP
D. OpenID

Answer: C

Which component adds the capability to a FileNet Content Manager environment to view
video content?

A. P8 Process Engine
B. IBM Content Navigator
C. External Share
D. IBM Content Collector

Answer: B

Why does Business Automation Insights use index patterns?

A. To find human task summaries based on the time stamp field
B. To find process instance summaries based on the time stamp field
C. To distinguish active and complete summaries
D. To parse summaries to find details from activities and process instances

Answer: B

Which type of work is best associated with aRobotic Process Automation usage instead of
a Digital Worker usage?
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A. Reporting and analytics
B. Filling out a web portal
C. Image recognition through machine vision
D. Analyzing documents

Answer: C

Which step helps to check the completeness of license usage data?

A. Log in to the cluster and run the command to check status of any individual product.
B. Check the list of pods from which the License Service might not collect license usage.
C. Check if the License Service was successfully deployed on the cluster by using
available tools.
D. Run health checks by the License Service and use the log service to monitor the log.

Answer: C

What are the two things that can be used to submit documents stored to FileNet Content
Manager for Content Analyzer processing?

A. Business document triggering
B. Sweep job
C. Check-in event handler
D. Content federation timer
E. Case Monitor task

Answer: B,C

In which capability can process routing rules that orchestrate workflow tasks be
implemented?

A. Business Automation Workflow Rule Table
B. Operational Decision Manager Decision Service
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C. Blueworks Live Decision Tree
D. Workstream Services Form

Answer: A

When utilizing the Cloud Pak for Automation, one of the benefits is the manner in which the
Pak is organized for the programming and development.

What is the format of the programming flow?

A. Resource Driven based on the hardware resources
B. User Driven based on the users on the machine
C. Model Driven based on a modeled process flow
D. Software Driven based on capabilities of the included software

Answer: D

Operational Decision Manager (ODM) for production can be configured with the User
ManagementService (UMS) using hardcoded roles.

Which statement is true regarding the users and groups that are used with the hardcoded
roles?

A. There are unlimited users and unlimited groups for each hardcoded role.
B. There are three users and three groups for each hardcoded role.
C. There are unlimited users and three groups for each hardcoded role.
D. There are three users and unlimited groups for each hardcoded role.

Answer: A

Which statement is trueabout the integration between Robotic Process Automation with
Automation Anywhere (RPA) and Business Automation Workflow (BAW)?
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A. Changing the mapping of the robotic task in BAW does not affect the integration thanks
to the decoupling of the components.
B. A bot definition is generated from the activity in BAW to drive the integration.
C. BAW does not support queue based setup of bots since it has no queuing abilities.
D. Teams should not be used for task assignment on RPA tasks since they are handled
differently than human users.

Answer: B

Which of the following is unique for each User Management Service Team?

A. Team ID and users
B. Display name and description
C. Team ID and environment
D. Resources and environment

Answer: C

Which capability provides business users with a no-code tool to configure team task
orchestration solutions?

A. Workflow Process Service
B. Business Automation Workflow
C. Workflow Orchestrate
D. Workstream Services

Answer: D

If a user desires a new skill for a Digital Worker, what is the proper manner to acquire it?

A. Discover an application's API.
B. Digitize it withthe Digital Worker Studio.
C. Build the skill with a Skill Toolkit.
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D. Utilize the AA Bot Store to download a skill.

Answer: B

What is the main component responsible for integration between Datacap andBusiness
Automation Content Analyzer?

A. Content Analyzer connector
B. Content Analyzer actions
C. Datacap connector
D. Datacap actions

Answer: A

What is the appropriate deployment strategy that refers to use a new version of application
for test / evaluation while theold, stable version is used by production user and the new
version is deployed only when ready?

A. Active-Active Deployment
B. Active-Passive Deployment
C. Blue-Green Deployment
D. A/B Deployment

Answer: C

What is the mechanism that Business Automation Workflow uses to integrate with a Digital
Worker? O A. Embedded JavaScript API forDigital Worker

B. Apache Kafka or IBM MQ

C. Template and DW Toolkit

D. Digital Worker REST API
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Answer: D 

What is the core embodiment of a Robotic Process Automation scenario?

A. Automating thought-driven tasks in an enterprise
B. UtilizingAutomation-as-a-Service within the Cloud
C. Automating repetitive tasks across multiple interfaces
D. Utilizing automation bots to cognitively craft code

Answer: A

Which Workflow capability is required for Case Manager Integration Services?

A. Workstream Services on containers
B. Workstream Services traditional
C. Business Automation Workflow on containers
D. Business Automation Workflow traditional

Answer: D

What is the most suitable use case for applying machine learning with Business
Automation Workflow?

A. Decisionmaking for each step in a business workflow
B. Identification of missing steps in a business workflow for optimization
C. Recommendation of risk event based on predicted next step in a business workflow
D. Identification of a change in the business rules of the organization

Answer: A
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